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; Cloudy Lesson

Answer the questions below using the grid and key

on the previous page. (Please note that any square on the
grid which a cloud is touching is worth the value of that cloud.)

1) E13 + 14

2) F1xC8 =

3) D2 +B6 =

4) B4 x H9 =

5) G2+ J9 +K2 =

6) Add the total of all clouds in column J to the
total of all clouds in column E. Answer =

Answer the following questions with a grid
reference:

7) JI3+E9=G2+ 4+
8) C4 -Cl2 =

The values of the clouds below have changed. Can
you work out what each is worth?
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